
Solución Viga continua nº 1

Tomás Cabrera (E.U.A.T.M.)

-3,84

Momentos de empotramiento perfecto en rojo

+3,84 -6,0 -1,33 +2 +6,0 +2,66 + 0,00 -5,76 +1,50

K1 = 4EI/ 4,8 = 5/6 EI = 0,833 EI K2 = 4EI/ 6 = 2/3 EI = 0,666 EI K3 = 3 EI/ 4,8 = 5/8 EI = 0,625 EI

K1 + K2 1/2 K2

1/2 K2 K2 + K3

1,50 1/3

1/3 1,2947
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+ 1,4933

- 4,4067

1,8604 /B EI  

3,8917 /B EI  

- 3,06 mt

-5,39 mt
-6,69 mt

↑ 4,8 t

↑ 0,47 t

↑ 5,27 t

↑ 4,8 t

↓ 0,47 t

↑ 4,33 t

↑ 6,0 t

↓ 1.0 t

↑ 1,0 t

↓ 0,22 t

↑ 5,78 t

↑ 6,0 t

↑ 1.0 t

↑ 2.0 t

↑ 0,22 t

↑ 9,22 t

↑ 4,8 t

↓ 0,77 t

↑ 4,03 t

↑ 4,8 t

↑ 0,77 t

↑ 5,57 t
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5 / 8* 3,8917 *04,26 6,69
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5 / 6* 0 * 1,8604 3,06

5 / 6* 1,8604 * 5,39

2 / 3* 1,8604 * 3,8917 5,39

2 / 3* 3,8917 * 1,860

1
2

4

1 0
2

1
2
1
2

3

8 6 ,, 6 69

A

B

B

C

M mt

M mt

M mt

M mt

        
       
 
        
 
         









)

)


